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(Question Paper for Compansionate Appolntment to Group C Category)
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(Qecnon A to be solved in English only. Scction B to be solved in Lnghsh or Hindi)

SECTION A (@S 1) MAp.Ks-=o;

l Writc an Essay on any one of the followmg (About 300 worcls) mﬁ!@ﬂﬁﬂm
s @wﬁéﬂﬁl@ | (FRFT 300 Wsq) | . Max. Merke-15

«m-(r-' ) $7% 0

‘ a fstooal media creating a false sense- ofacﬂv:sm? Arerm W '
wfrTa v O A
B. Banon plastic: Environment vs. Economy (w%gwﬁm WW?%@H) i
C. Social implications of increasing divorce rates in urban India . Wl URa A el s R & e

2. Write a letter to Bank Manager for Changing Mobile Number.
"Max. Marks -10 : : )
*—m‘s;a-az*—ﬁ&‘m éwﬂim'q':’maﬁ@z

3. Make antonym {Opposite] of the following words ; Max., Marks -5X1=5

-8
ﬁmam—"fﬁaﬂmﬁqﬁa)maﬁ@l
A) ESSENTIAL B) MINOR C) PRELIMINARY. D) VIRTUOUS E) SYNTHETIC

Make synonym of the following words: ' : Max. Marks -5X1=5

. mianC SYnoHnyni

FofafEd Wi o1 ygigard Ues 9541

A} UNITE B) TEPID C) AWAKENED D) VIGOUR Ej REPERCUSSION

5 Make plural of the following words: Max. Marks -5X1=5

mmﬁa@aﬁml

A} Diagnosis B) Voleano C) Goose D) Syllabus E) Foot

Max. Marks -5X1=5

6. Make one sentence for each of the following:

PaRiRe ¥ 3 ude ¥ fuu oF 9y g

A) Furniture B) Thesis C) Dynamics D) Phenomenon E) Nucleus
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QUF WL . Max, Marks .8X1n5

A ta B Sadlam wacp maore than hie mateh (for, mio, on, Ayainst)
B) Sheput ... abool appaaance attho ond of party.. ( on, in, across, up)
C) The maching ts St bl ... sy to maintain, (but, and, for, In)
D) R fahocdn-taw .. imup in businoss. (put, made ,s0l, buik )

“E) 1havenl amen an APl .. long whike, { sinco for ,at, in)

SECTION B |§§ éh (MARKS-50)

Solve the following. RRRIRT 3 gaH. Max. Marks -5X2=10

A) The dilerencs dotween a two-digit ﬁumhcr and the number obtained by interchanging the pqsitions of its
Gpwts i 36, What is the diftference between the two digits of that number? (Teh a 31y T
2 ¥ W KGR X T W & d19 1 SR 36 ¥1 99 $E & Q) ST & did BT AR

! ‘

A nx: 2s 24 vears older than his son. In two vears, his age will be twice the age of his son. The present age
et st (TP ST ST 3 Q24 T T81 &1 2 el SIG SHH 37 9GP I P I A
TN TEE R AT TTRY)

n
.

C} Oa sclling 17 balis st Rs. 720, there is a loss cqual to the cost price of 3 balls. The cost price of a ball is?

17 PR ) 720 TR A A W 5 T & 00 el 3 R i el 1 T TG 1 0 TF9 §7)

D} How mam brdks, cach measuring 25 gm\ 11,25 cm x 6 em, will be needed to build o wall of 8 mx 6 mx
315en? { BHEER 76 WeX x 22.5 T B Jar & & g 25 Fll x 11,25 91 x 6 A AN

faa ity

£ The leae number of complete ‘“‘“‘%"‘ which a sum ol‘mum\ put out al 20% compouud interest will be
mere than dosbled 5% (- 70} 41 ) Wl farceAl R fored 20% <669 RACH DRI AN ERIE
ey PALiGt B'&miﬁ"ﬁ}wji’j?; e e

Pupznd following abbreviations: . Max Marka- SX1=5

Frafataa sy @l faam a3

2

wosw

. UNICEF (GA8F;

BSF (4 0¥ UF

WTO {22 4

PAN (. ¥

3) Match the following: ' i
} Match the foﬂowmg.’-_ 3%y : - Max Marks- 5X1=5

[ Countrics @ 3~
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1. Maldives | WEAQ ) A. Moncow (HTUD))
2. Nepal (UI) B. Dhaka ( 30
W 3. Russia (¥4) C. Male (\ITQ)) s
g 4. Bangladesh { a4 ) ' ,
3 D. Jerusalem [@¥IAT )
B 5. Isracl (SWRIGT) E. Kathmandu @1691%)
B
5 5
gi" ~_.4. Select correct option: ‘Max Marks- 10%2=20

- T ReasamE ey |

AN

)Mahindra & Mahindra (Afes &S #fés)
2) Ashok Leyland (3IT1S A18S)

. 3) Tata Motors (ST HIEY )

4) Volvo (Il )

1) Chandra'.yaan-Zv(ii‘qul-z )
)Mangalyaan ( HITGH )

fadia and Pakistan ( HRG AR W)
ndia and China (HRd 3?1??37{)
)india and Myanmar (HRd R FIAR )

. B) Whilch mission captiired the first-ever image of a solar flarc kerriel? (8 e 3 SR warel v H wed

jindia and Afghanistan (R 3 SBTFRAA)

2)Aditya-Li (3nfew-uey) |
4)Astrosat (TIIT ) ;

£2F) The members of the panchayat are ( Gt & WSl oY)

1) nominated by the district officer or R gR1 TR S st 2)
the electorates of the respective territorial constituencics (efa malRe P & & talas i)
nominated by local self-government minister of the state (I & RAFY WRAIRF T GR1 AR 6 S )
nominated by the block development organization ( il e Wi i Wl Rsur Sirn @)

t a) \\Thich company launched the first-ever trials of hydrogcn-powered heavy-duty trucks? v(iaa q %Y 4
§ TReoH-HaItd §91-SE €l 1 Ygen wheu IF e )

The Radcliffe line is‘a boundary b‘et‘wé_eﬁ m 1 5 € Iﬁtﬂ %?)‘

If the cash reserve ratio is lowered by the RBI, ity impact on credit creation will be to (uf-a RBI gRI 1$¢
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G) The manbm of the atate lms!mw asanblies are eleeted for perdoid of ( e et T on g ; ;
R RAT)
)’wx\«’ﬁ) 216 years (6 T) Nieare (SUN)  4) 3 years @)
, ¥ G HARYE Gl &
H) Pla.nh absord most part of water needed by them through their ( i g v i‘ AR
L R RR}A A vt T D)
7 1) embdovonic 2one { i ) 2) growing point { gl ﬁ""
3} root hairs (VS & T) 1) zone of elongation ( ¥gTd T &)
CARCI M
D) Which scientist discovered the radioactive element radium? (o A Ryl o WSTH @ )
1) Isasc Newton ( HFRS YeH) :
2) Albert Einstein { SR¢ HREH) el 8,
3! Benjamin Franklin { SRR @i ) Ay
3} Marie Curie { TQ &)

J}Qarsag;earstomove(‘mmeastmwcstbccause@ﬁ@@mﬁﬂ@ﬂﬁammé Eﬂm'}')
ﬁﬂlsxarsmovcfromcastto“csr(maﬁ‘@@maﬁWmm%)
Tjke carth rotates fom west to east (T URT A G ﬁ?’ﬁg)

3jthe earth rotates from easttov.wt(q‘fﬁ‘ﬁ@qmﬁﬁam ) ‘
ke background of the stars moves !'rom west to east @ Hﬂ ‘IR‘@ t@qi{tﬁaﬁ IR gt %)‘ ‘

5. Wme short notes:on any two of the followmg (About 100 words each)

Wﬁ@ﬁ%}awmmm | (ueamamm 100 Ts3)
Max Marks- 5X2= 10

1. Feminism (Eﬁa@mra Y. ereas ‘
- 2. Mediz’s dutyis to inform public, not manufadure opinion. ( m%mffﬂm Ol ﬁﬁﬁ'ﬁm% ?RI S
S

mmﬁ
3. Organic Farming in India (M- ﬁﬁﬁ?@?ﬂ)

“nﬂi*tﬂt’fittttﬁi*ifﬁ*“tl kb khhhAhhARAhhhkdh

Ttk B e b
Y

@ Scanned with Oken Scanner

ASYY |

er




